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Fill in the missing numbers :

a) 9x =18 a) 2x =20
b) 7x =42 b) 6x =30
c) 4x =8 c) 8x =24
d 9x =36 d 8x =56
e) 6x =18 e) 10x =80
f) 10x =20 f) 9x =468
g) 4x =12 g) 3x =129
h) 8x =16 h) 7x ___ =245
i) 3x __ =6 i) 8x =216
j) 4x =12 j) 4x =176
k) 9x =45 k)] 6x =252
) 9x =18 ) 6x =204
m)7x =21 m) 8x =128
n) 4x =16 n) 6x =192
o) 4x =24 o) 9x =153
CHALLENGE

* Nora takes out an interest-free loan from her father to buy a
car. If she pays 1,528 per month over a 6-month period, what
is the cost of the car?
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